Program sygnalizacji

Ul. Rybnicka — rys. nr 2, 3

Para strumieni (1,2)
d = 180 m — dlugos¢ odcinka pasa wytaczonego z ruchu

e, "™ (1,2) =1, +1,(1,2)-1,(1,2)

s (1,2)+1
z, (1,2) = —(v ()1 P

s, (1,2)
Va (2)

t,(1,2)= +1

v, =40[km/h] = 11,11 [m/s]
v, =40[km/h] = 11,11 [m/s]

Se = (5 + 180) [m]
l, =9 [m]
t; =3 [s]

¢ (12)_5+180+9 _ 194
‘ 11,11 11,11

[s]

™" (1,2)=3+18 =21 [s]
Para strumieni (2,1)

d = 180 m — dlugos¢ odcinka pasa wytaczonego z ruchu
" (20) =1, +1,(2,1)-1,(21)
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[SS=Y
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t,(21)= . (1’) +1

v, =40[km/h] = 11,11 [m/s]
v, =40[km/h] = 11,11 [m/s]

Se= (15 + 180) [m]
Iy =9 [m]
t; =3 [s]

te(21)25+180+9 _ 194

= S
1111 11L11 s



ta =0 [s]
t, ™ (2.0)=3+18 =21 [s]
Program sygnalizacji $§wietlnej

t, ™ (1,2) =21 [s]
t, ™ (2.1) =21 [s]
G =30 [s]

ul. Rybnicka —rys.nr 4, 5, 6, 7

Para strumieni (1,2)
d =400 m — dlugos¢ odcinka pasa wytaczonego z ruchu

r, " (1,2) =1 +1,(1,2)-1,(1,2)

S (1,2)+1
te (1,2) = Tp

t,(1,2) = Sv"d(zs) +1

v, =40[km/h] = 11,11 [m/s]
v, =40[km/h] = 11,11 [m/s]

Se = (5 +400) [m]
Iy =9 [m]
t; =3 [s]

te(l 2)=5+400+9 _ 414

= S
1111 1111 s

ta=0 [s]

. " (1,2) =3+38 =41 [s]

Para strumieni (2,1)

d =400 m — dlugos¢ odcinka pasa wytaczonego z ruchu
" (20) =1, +1,(2,1)-1,(21)

S, (21)+1,
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v, =40[km/h] = 11,11 [m/s]
v, =40[km/h] = 11,11 [m/s]

Se = (15 + 400) [m]
Iy = 9 [m]
t; =3 [s]

16(21)=5+400+9 _ 414

= S
11,11 11,11 l¢]

ta =0 [s]
t, ™ (2.1)=3+38 =41 [s]
Program sygnalizacji $§wietlnej

t,™ (1,2) = 41 [s]
t, ™ (2.1) =41 [s]
G =30 [s]



